
Variable Response function Response function parameters

Vcmax Vcmax = Vcmax, 0
[
1+ exp

[
(SvTref−Hd)/(RTref)

]] exp[(Ha/RTref)(1−Tref/T )]
1+exp[(SvT−Hd)/(RT )] R = 8.314 J mol−1 K−1

(C3 plants)a Ha = 73647 J mol−1

Hd = 149252 J mol−1

Sv = 486 J mol−1

Jmax Jmax = Jmax, 0
[
1+ exp

[
(SvTref−Hd)/(RTref)

]] exp[(Ha/RTref)(1−Tref/T )]
1+exp[(SvT−Hd)/(RT )] Ha = 50300 J mol−1

(C3 plants)a Hd = 152044 J mol−1

Sv = 495 J mol−1

Vcmax Vcmax =
Vcmax, 0Q

(T−298)/10
10

(1+exp[c1(c2−(T−273))])(1+exp[c3(T−273−c4)])
Q10 = 2.0

(C4 plants)b c1 = 0.3
c2 = 13.0
c3 = 0.2
c4 = 38

0∗
c 0∗ = 0∗,0

[
1+ γ1 (T − Tref)+ γ2(T − Tref)

2
]

ϒ1 = 0.0509
ϒ2 = 0.001

MM constant of Kc =KC, 0e
(Ek,c/(RTref))(1−Tref/T )

Rubisco (CO2)c

MM constant of KO =KO, 0e
(Ek,O/(RTref))(1−Tref/T )

Rubisco (O2)c


